Year 2 Multiplication - Maths Day 4 	Word Problems			4.6.2020  
Try your best with these questions based on our multiplication work this week. Remember to use resources, scrap paper, etc to help you – do not expect to do it all in your head!
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I buy 8 packets of sweets. There are 5
sweets in each packet. How many sweets
do T have?
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T have three 5p coins in my purse. How
much money do I have altogether?
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My bookcase has 10 shelves with 10 books
on each. How many books are on my
bookcase?
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In a relay race, 4 children swim 2 lengths
each. How many lengths are swum alto-
gether?
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How many toes are there on 5 children?
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4 groups of children go on a school trip.
There are 10 children in each group. How

many children go on the trip? !
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How many feet are there on 8 children?
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I buy 6 bottles of lemonade. If there are 2
litres in each bottle, how many litres of
lemonade have I bought?
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1. Write these addition sentences as
‘multiplication sentences:

5+5+5+5+5+5=30

10 +10 + 10 + 10 + 10 = 50

10+10+10+5+5=40
[y
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2. Would you rather have 3 boxes with 10
biscuits in or 5 boxes with 5 biscuits in?
Explain your reasoning.

Would you rather
have 4 trays with 5
apples in or 2 trays
with 10 apples in?
Explain your
reasoning.
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3. True or false? Explain your reasoning!

2x10=5x4
2x6=3x5
5x5=10x3
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7. Which of these number sentences is the odd
one out? Explain your reasoning.

40+2 4x5 20x0 2x10





